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QUESTION 1

When a write from a SAN host is received, the information is stored within the controller before it is written
to the underlying RAID.

In this scenario, which component stores the data?

A. HBA

B. FlashCache

C. Flash Pool

D. NVRAM

Correct Answer: D

QUESTION 2

Click the Exhibit button.

::> network interface show —vserver nfsl —fields dns—zone

vServer 1if dns—zone
nfsl 1ifl nfsl.netapp.com
nfsl 1ifZ2 none

2 entries were displayed

You use DNS zone delegation to access an SVM that is set up for on-box DNS to nfsl.netapp.com. You
can ping both lifl and lif2 by IP address, but you can only ping lifl by the delegated DNS name
nfsl.netapp.com.

Referring to the exhibit, what must you do to allow on-box DNS access to lif2?

A. Modify the DNS zone on lif2 to nfs1.netapp.com.

B. Modify the firewall policy on lif2 to management.

C. Configure the name service to allow DNS.

D. Configure lif2 in the external DNS.

Correct Answer: A

QUESTION 3



When you create a new SSD storage pool for use with Flash Pools, how many allocation units are assigned to each
node in the HA pair by default?

A8
B. 2
C.1
D.4
Correct Answer: B

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-
psmg/GUID-610B95D3-BOF34890-9A45-8A343BF40B29.html

QUESTION 4

Two 100 GB space-reserved LUNs and one 100 GB non-space-reserved LUN were created in System
Manager in a 1 TB volume.

In this scenario, how much space has been allocated for writes to the three LUNs?

A.1TB

B. 300 GB

C. 100 GB

D. 200 GB

Correct Answer: D

Reference: http://ppbwiki.rz-berlin.mpg.de/uploads/Intern.NetApp/semg.pdf

QUESTION 5

A storage administrator has a single-node FAS cluster. The administrator wants to add a second node to
convert the FAS storage array into a switchless cluster.

In this scenario, what would the administrator do to accomplish the task?

A. Add a new AFF HA pair and replace the existing FAS.

B. Add a cluster interconnect switch and a second FAS of the same model.

C. Add a new single node AFF controller to the existing FAS storage array.

D. Add a new single node FAS controller of the same model.

Correct Answer: D



QUESTION 6

A network administrator has configured an upstream switch for LACP.

In this scenario, which action should be performed when the NetApp interface group is created?
A. Set the type to "static multimode".

B. Set the distribution function to "port".

C. Set the type to "dynamic multimode".

D. Set the distribution function to "IP".

Correct Answer: C

QUESTION 7

Which three actions would be used to upload an image or firmware for ONTAP 9.3? (Choose three.)
A. Use TFTP.

B. Use USB.

C. Use HTTP.

D. Use FTP.

E. Use SFTP.

Correct Answer: BCD

QUESTION 8

Which two statements are true when you restore a volume from a Snapshot copy? (Choose two.)
A. All Snapshot copies that were created after the Snapshot copy was created are lost.

B. All data that was written to the volume after the Snapshot copy was created is lost.

C. The volume\\'s SnapMirror relationships need to be re-created.

D. After the volume is restored, it becomes read-only.

Correct Answer: BC

QUESTION 9

An administrator created an SVM for a VMware vSphere 6.5 cluster. For the SVM, the NFS protocol was enabled. Data



LIFs were configured with jumbo frames. The nfsO1 volume was created and mounted as

junction path /nfs01. A VMware export policy that allowed all the hosts of the cluster was applied to the
SVM. However, the hosts are unable to mount the volume.

In this scenario, what caused the problem?

A. NFS v3 is not compatible with ESXi hosts.

B. The volume is not thin provisioned.

C. The maximum transmission unit (MTU) was not set properly on the ESXi hosts.

D. The default export policy needs to allow reads from the ESXi hosts.

Correct Answer: C

QUESTION 10

Which statement is true about creating volumes that contain LUNS?
A. You can create LUNs on an aggregate.

B. You cannot create gtrees on a volume that contains LUNSs.

C. You cannot create LUNs on an SVM root volume.

D. You cannot add files on a volume that contains LUNs.

Correct Answer: A

QUESTION 11

A storage administrator currently has an 8-node FAS8200 cluster with CIFS, NFS, and iSCSI licenses
installed.

In this scenario, how many additional nodes are supported?

A. 3

B.6

C. 4

D.1

Correct Answer: C

QUESTION 12



What are three types of load balancing for multimode groups? (Choose three.)
A.IP

B. MAC address

C. sequential

D. fixed path

E. most recently used

Correct Answer: ABC

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUID27EAC723-A07A-4F60-A1AC-8E91AEB6AES2E. .html
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